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Appendix A

Analytical Conditions

Rotation Rotation on; minimizes the effect of crystal
preferred orientation and surface imperfections.

Mineralogical Database International Centre Diffraction Data Pattern
Diffraction File 4+2007 (PDF4+2007)

Quantitative Software Rigaku Whole Pattern Fitting

Software Conditions
Jade v. 8 1ICDD PDF4+2007)

Condition Application
Background Cubic spline applied to background.
ka Stripped




Results

Disclaimer: Due to uncertainty inherent in XRD analysis, the unambiguous identification of
poorly crystalline and trace phases is not possible in all instances. In such cases, XRD analysis
can, at best, provide an insight into phases that may be present in the sample. Mineral
percentages derived by Rietveld analysis should be tempered with this information.
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B Cristobalite = 201 (2.4) [RIR=2 075%)] '
Albte =11 7 (1.1 [RIR=0.64{5%]

Micracling = 10.4 (1.3 [RIR=2 .0(5%]

Rutile = 5.2 (0.7 [RIR=3 5305%]
mortmoarillonite-154 = 3 6 (0.6) [RIR=2 005%]
B Rectarite = 2.1 (0.8 [RIR=2 075%)] 44 1%
Clinochlore = 1 6 (0.4) [RIR=1 005%]
Wllite-2h1 = 1.3 (0.5) [RIR=2 .00 5%]

20.1%

10 405 11.7%

o)z

13% 16% 21%

HW109 LELY et




HW109

1 [Ocuartz = 44.1 (2.9) [RIR=2.99(5%)] |Bars ] >
M Cristabalite = 201 (2.4) [RIR=2.0(5%)] T Montmorillanite-1564 - Call.2(4) Mgl25i4010[0H)2 4H20
Cladsite = 11.7 (1.1) [RIR=0.64(5%)] Cristabalite - 502
EMicracline = 10.4 (1 3) [RIR=2.0(5%] o _
CRutie = 5.2 (0.7) [RIR=3.63(5%] Microclin - KAISi308
EMortmerilorite-154, = 3.6 (0.6) [RIR=2.0(5%)] _ |

. Rectorite - K1.24145i80 20(0H)4-4H20
| Iraziin S 2 (e [da s Eales e 2M1 - [ H30 fmzse[mn% 0[0H)2

Bl Cinochlore = 1.6 (0.4) [RIR=1.0(5%)] Clinachlore - (Mg2 96Fe1 55Fe 13641 275)[512 52241 276010)(0H)E
Wiite-2141 = 1 3 (0.5) [RIR=2.0(5%)]
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Guartz = 520 (3.4) [RIR=2 997 5%] Bars | |

Albite = 126 (1.27 [RIE=0 64(5%1]
B K anlinite = 7.5 (1.07

Blllite = 6.6 (0.53) [RIF=2.0(5%]

Rutile = 4.5 (0.8 [RIR=3.63(5%]]

Bl Rectarite = 4 1 (1.0) [RIE=2.0(5%]
B icrocline = 3.9 (0.6] [RIR=2.005%1]
Mortmarillonte-154 = 3.4 (0.6) [RIE=2.0{5%] 52 0%
B Tridymite = 2.8 (0.8) [RIR=2.0(5%]
B Criztobalte = 2.5 (0.6 [RIR=2.0[5%1]
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A Oouartz = 52.0 (3.4) [RIF=2 99(5%]
Camite = 12.6 (1.27 [RIR=0.64(5%]
Mraolinte = 7.5 (1.0

Miite = 5.6 (0.8) [RIR=2 0(5%]]
[CrRutile = 4.3 (0.8) [RIR=3.63(5%]
BRectorite = 4.1 (101 [RIR=2.005%)]
Ericrocline = 3.9 (0.6) [RIR=2.005%]
Erortmorillonite-154 = 3.4 (06 [RIR=2.0(5%] 52.0%
A Triclyimite = 2.8 (0.8) [RIR=2.005%]]
W Cristobalte = 2.5 (0.6) [RIR=2.005%)]
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Clinochlore-24 - MgBS4010[0H)2
b ontrornillonite-154, - Call. 2[4 Mg)2514010[0H)2-4H20
Criztobalite - 5102

Microcline - KAISI30S

Rectorite - K1, 2445130 20(0H)4-4H20
Trdyrnite - 502




B cuartz = 27 6 (1.9) [RIR=3.41(5%)] Barz ¥ | w

B Criztobalite = 16.5 (3.0 [RIR=2 075%)]
Albtte = 162 (147 [RIR=0.64(5%]
BRectarite = 9.1 (1 1) [RIR=2 075%)]
Rutile = 71 (0.8) [RIR=3 53(5%]
Tricymite = 7.0 (1.3) [RIR=2 0(5%]

B tdicrocline = 6.1 (1.3 [RIR=2 005%)]
mortmarillonite-154 = 5.7 (0.5) [RIR=2 005%] 37 E%
llite = 2 6 (0.5) [RIR=2.005%]

B Clinochlore = 1.9 (0.3 [RIR=2 075%)]
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3| cuartz = 275 (1.9) [RIR=3.4105%]

|Barsﬂ -
Wl Cristobalte = 16.5 (3.0) [RIR=2.0(5%] -
Ol albite = 16.2 (1.4) [RIR=0.64(5%)]

W Rectorite = 9.1 (1.1 [RIF=2.005%)]

CRutile = 7.1 (0.8) [RIR=3 6305%1]

CTrigymite = 7.0 01.3) [RIR=2.005%)]

Wticrocline = 6.1 (1.3) [RIR=2.0(5%]

Etortmorilonite-154 = 5.7 (0.5) [RIR=2.0(5%)] 27 5%
Clliite = 2.6 (0.5) [RIR=2.0(5%])

Wl linachiore = 1.9 (0.3) [RIR=2.0(5%]
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Microcline - KAISI308

Quartz - 5i02

Cristobalite - 5i02

Clinachlore - [(Ma,Fe+2)BAISI3A0010[0H)E
Rectarite - Nah4[Si 41180 20(0H)4-2H20
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Bl Cuartz = 55.5 (1 .8) Barz i | -

Albite =137 (1.2 [RIR=0.64(5%]
B tontmorillonite-158 = 7.9 (0.8] [RIR=2 005%1]
Microcline = 6.4 (0.8) [RIR=0.59(5%]
BRutile = 5.6 (0.8) [RIR=3.63(5%.]

Tricymite-0 = 5.5 (0.7) [RIR=2 .00 5%] £E 3,
Bl Cristobalite = 3.0 (0.4)

Bilite-201 = 2 6 (0.7 [RIR=2 .07 53]
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1| Mcusrtz =553 (1 8) Bas 2| - Microcling - K[ISi308)
Calkite =137 (1.2) [RIR=0.64(5%)] T _ _
Etortmorilonite-154 = 7.9 (0.5) [RIR=2.0(5%)] llite-2441 - (K H30)4125i34/010(0H)2
[ticrocline = 6.4 (0.8) [RIR=0.59(5%)] Cuartz - 5i02
WRutile = 5.6 (0.3) [RIR=3.63(5%)] dyrrite-01 - 5i
O Trichymite-0 = 5.5 (0.7) [RIR=2.0(5%]] 55 3% Cristobalite - Si02

) . Rutile - TiD2
W cristobalite = 3.0 (0.4) e ) _
Hlite-211 = 2.6 (0.7) [RIR=2.0(5%)] Montrorillonite-158, - Mal 3o Mg)25i4010[0H)2-4H 20
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Quartz = 46 5 (2.9 [RIR=2 .9975%)] Bars | v

Albte = 21 5 (1.5) [RIR=0.64(5%]
B Tricymite = 5.4 (1.2 [RIR=2 075%)]
Rutile = 5.9 (0.7 [RIR=3 5305%]

B Criztobalite = 4.2 (1 .00 [RIR=2 075%)]
Wllite = 3.7 (0.5) [RIR=2 075%]

B Rectarite = 5.4 (0.5 [RIR=2 075%)] A6 5%
mortmoarillonite-154 = 5.5 (0.5) [RIR=2 .005%]
Micracling = 3.2 (0.4) [RIR=2 005%]
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I Dcwartz = 46 5 (2.9) [RIR=2.99(5%]

Ol albite = 21 5 (1 5) [RIR=0.64(5%)]

W Tricmite = 8.4 (1.2) [RIR=2.0(5%)]

ClRutile = 5.9 (0.7) [RIR=36375%]

Wl cristobalte = 4.2 (1 .07 [RIR=2.0(5%]

Wiite = 3.7 (0.5) [RIR=2.0(5%)]

WR=ctorite = 3.4 (0.8) [RIR=2.0(5%)]
Mtortmorilonite-154 = 3.3 (0.5) [RIR=2.0(5%)]
Etdicrocline = 3.2 (0.4) [RIR=2.075%]
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b ontmorillonite-154 - Cal. 2[aLMal2Si4010[0H)2-4H20
Criztobalite - 5102

Microcline - KAISI308

Rectonte - K1.244513020[0H)4-4H20
Tridyrnite - Si02
[lite: - FAIZSI3AI07 QOH]2




iSideritE =49 6 (4.3) [RIF=2.005%]] Barz #|

Quartz = 161 (1.7) [RIR=2 997 5%]
B Tricymite = 12.3 (3.4) [RIR=2 005%)]
Albite = 9.4 (2107 [RIR=064(5%]
Bilite = 6.3 (1 4 [RIR=2 0r5%]

B Criztobalite = 3.1 (1 61 [RIR=2 075%)] 4 B9,
maortmarillonite-154 = 2.0 (0.7) [RIR=2 005%]
Etdicrocline = 1.2 (1 .00 [RIR=2 0r5%)]
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A |[Msictertte = 496 (4.3) [RIR=2.005%] Bars | =
Clauartz = 161 (1.7) [RIR=2 98(5%)] o
W Tridyrmite = 12.3 (3 4) [RIR=2.0(5%)]

Dl kit = 9.4 (2.0) [RIR=0.64(5%)]

Wliite = 6.3 (1.4) [RR=2.0(5%]

W cristobsite = 3.1 (1.6) [RIR=2.0(5%] 49 5%
Ehortmorilonite-154 = 2.0 (0.7) [RIR=2.0(5%)]

EMicrocline = 1.2 (1.0) [RR=2.0(5%)]
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Tridyrnite - Si02
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Kaolinite = 159 (1.3)

Quartz = 29.5 (207 [RIR=2 99 5%]

Wllite =135 (117 [RIR=2.0(5%)]

B Tricdymite = 5.7 (1 .41 [R
B Clinochlore = 5.3 (0.6)
B Cristobalite = 4.8 (1.3)

Albite = 12 5 (1.3) [RIR=0.64(5%]
Micracling = 6.5 (1.4) [RIR=2 005%]
mortmoarillonite-154 = 6.5 (0.7) [RIR=2 005%]

R=2 00 5%]
RIR=1 075%)]

RIR=2 005%]
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3 ij@uadz =29.5 (2.0 [RIR=2.99(3%:]]

Mkanlinte =15.901.3)

Wilite = 13.5 (1.17 [RIR=2.005%]

[ aite = 126 (1.31 [RIR=0.64(5%]
Ericrocline = 6.5 1 .4) [RIR=2.005%]
Emortmorillonite-154 = 6.3 (0.7) [RIR=2.0(5%:]
W Trickymite = 5.7 (1.4) [RIR=2.0(5%]

M Clinochlors = 5.3 (0.6 [RIR=1.0(5%)]

B Cristobalts = 4.8 (1.3) [RIR=2.0(5%)]

15.9%
1269 13.5%

48% 5.3% 5.0% E.3% 65%

|Earsﬂl

29.5%

Wit

v = 2|27 [= [A]a]s]=[=]=]se]z]o [o]-]

st Wbl bt

10

k ortrorillonite-154 - Cal. 2[4 M g)25i4010[0H)2-4H20
Criztobalite - 5102
Microclineg - KAISI308

Trdymite - 5102

llite - EAIZSIZAIOTOOH]2

Clinachlore - [Ma2 96Fe1.58Fe 13641 . 27552 62240 37601 0)[0OH]3
F.aalinite - A25i205[0H)4




Quartz = 626 (3.9) [RIR=2.99[5%]] ‘Elarg H ‘ -
Aloite =14.0 (1.0 [EIR=0.64(5%]] '
Kaolinite = 5.9 (0.8)

Montmorillonte-1324 = 4.3 (0.4) [RIR=2.0[5%]]

Microcline = 3.5 (0.4) [RIFE=2.0[52%]]

B Clinochlore = 3.4 (0.47 [RIE=1 0{5%] E2 54,
Bllite = 3.2 (0.4 [RIR=2.0{5%]]
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Jamkite = 14001 .00 [RIR=0 E4(5%]

Okadlinite = 5.9 (0.8)

Otontmarilonite-154 = 4.3 (0.4) [RIR=2 005%]

Aticroclineg = 5.5 (0.4) [RIR=2.005%]]

B clinachlore = 5.4 (0.4) [RIR=1.003%]] £2 E%

1 {00Guartz = 62 6 (3.9) [RIR=2 39(5%)] Bars %] ]

Milite = 3.2 (0.4) [RIR=2.0(5%]]
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b ortmorillonite-154, - Cal. 2al M a)25i4010[0H]2-4H20
Microcline - KAISI308

ke - KAIZSI2AI07T0[0OH)2
Clinochlore - (M2 96Fe1.55Fe 136410 . 275)[Si2.62241 . 37601 0)(0H )3
F.aolinite - AI25i205[0H)4




Trickymite-0 = 20 5 (3.5) [RIR=2 0r5%)] Barz

B Cuartz = 172 (1.9) [RIR=3.0505%1]
Mortmorillonite-154 = 15.5 (2.00 [RIR=2 00 5%]
B ruscovite-1 = 14 4 (2,27 [RIR=2.0(5%]
Rutile = 9.4 (1.7 [RIR=3 63(5%1]

Criztobalte = 8.0 (7.3 [RIR=2.0(5%1]

B Halloysite-104 = 6.2 (1.5 [RIR=2.005%]
Albite = 4 9 (0.97 [RIR=2 .00 5%] 20.5%
Bilite = 2.5 (0.8) [RIR=2.0(5%] 17 2%,
Bl Orthoclase = 2.2 (0.8) [RIR=0.74(5%) 1 14.13.3%
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i ETridym'rte-O = 205 (3.5) [RIR=2.0(5%] |Bars | ] . B
Guartz = 17.2 (1.9) [RIR=3.0505%)] - uzcovite-1M - KAlZ5)
Etortmarilonite-1548 = 15.3 (2.0) [RIR=2.005%] b ortrnorillonite-158 - Ca0. 2(a] Mg)25i4010[0H)2-4H20

Muzcovite-1M = 141 (2.2 [RIR=2 0{5% [uartz - Si02
ERutiIe =917 [RIRES_EJSES%)] E% Hallayzite-108, - AI25208[0H14-2H20
Ccristobalite = 8.0 (7.3) [RIF=2.005%]]

Wl Halloysite-104 = 6.2 (1.5) [RIR=2.005%)]

E &lbite = 4.9 (0.9 [RIE=2.005%.] 20.5%
Wlite = 2.5 (0.5 [RIR=2.005%]
W orthoclase = 2.2 (0.8) [RIR=D.T4E5%)J4_1 %1 0.3%
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Albite - Ma[Si3an0a
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Quartz = 302 (2.0) [RIR=2 997 5%]

Albite = 15 2 (1.3) [RIR=0.64(5%]

Kaolinite = 13.2 (1 1)

Trichymite = 11.7 £1.3) [RIR=2 .00 5%]

Wliite = 11 .5 (1 1) [RIR=2 0r5%)]

B Criztobalite = 7.7 (1.2 [RIR=2 075%)]
maortmarillonite-154 = 4 5 (0.5) [RIR=2 005%]
Micracling = 4.0 (0.6) [RIR=2 005%]

B Clinochlore = 2.1 (0.4 [RIR=1 075%)]
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I Ocuartz = 30.2 (2.0) [RIR=2.99(5%)] |Bars %] =
Clalkite = 15.2 (1.3) [RIR=0.64(5%)] |
Mkaclinite = 13.2 (1.1)

M Trichymite = 11.7 (1.3) [RR=2.0(5%]]

Wilite = 11.5 (1 17 [RIR=2.0(5%)]

Wcristobaite = 7.7 (1.2) [RIR=2.0(5%]]

Enortmorillonite-158 = 4.5 (0.5) [RIR=2 0(5%)] 30.2%
MEricrocline = 4.0 (0 5) [RIR=2.0(5%]]

Wclinochiare = 2.1 (0.4) [RIR=1 0(5%]]
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Albte = 43 5 (3.3 [RIR=2 .00 5%]
B ciuartz = 0.3 (2.2 [RIR=3.05(5%]

Bl Halloysite-104 = 5.0 (1.2) [RIR=2 005%]
Trichymite-0 = 4. 5 (0.7 [RIR=2 00 5%]
Sanidine = 4.2 (1 .07 [RIR=0 76(5%]
Rutile = 5.2 (06 [RIR=3 5305%]

B tiuscovite-1h = 3.0 (0.6) [RIR=2 .00 5%]

B ermiculite-2M = 1 5 (0.2) [RIR=21 37(5%]
B Criztobalite = 0.6 (0.4 [RIR=5135(5%)]
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M albite = 43.5 (3.3) [RIF=2.0(5%] |Bars 4] = Muscovite-Th - KAIZS34I010[0H]2
M Guartz = 30.3 (2.2) [RIR=3.05(5%] o Mantmerilorite-154 - Ca0. 2(A1 Mg)254010[0H]2 4H20
B Halloysite-104 = 5.0 (1.2) [RIR=2.0(5%]] _ _ Buartz - 5i02
DTridymite-O =45 (U.T:I [R|R=2.D(5%:I] Ha||Dj,ISIlE-1 04, - Al25i20 E[DH]42H2|:|
Osanidine = 4.2 (1.00 [RIR=0.76(5%] . .
CRutile = 3.2 (0.6) [RIR=3.63(5%)] Albite - Na[Si34N08
Wtuscovite-Th = 3.0 (0.6) [RIR=2.0(5%]

Erontmorillonite-154 = 2.6 (0.6) [RIR=2.0(5%]] 43.5% Cristabalie - Cal. O5(40.157.3)04)
Wl Crictobalte = 0.6 (0.4) [RIR=5.13(5%)] 30 3
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Quartz = 34.0 (2.0 [RIR=2 99(5%]
Albite = 20.2 (1.4 [RIR=0 64(5%)]

Micracling = 106 (1 17 [RIR=2 075%))
Kaolinite = 10.0 (0.5)

Wllite = 5.1 (0.6) [RIR=2.005%)]

B Clinochlare = 5.7 (0.5) [RIR=1 .005%]
mortmorillonite-154 = 4.9 (0.4 [RIR=2 075%)]
Trickymite = 2.6 (0.5) [RIR=2 075%]

B Criztobalite = 2.2 (0.4) [RIR=2 005%)]

B Siclerite = 1.7 (0.2 [RIR=2 075%]
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Oalpite = 20.2 (1.4) [RIR=0.64(5%]

nicrocling = 106 (117 [RIR=2 0(5%)]

Okanlinite = 10.0 (0.5)

Bilite = &1 (0.6) [RIR=2.0(5%)]

Bl Clinochlore = 5.7 (0.5) [RIR=1.0(5%]
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Cclinochlore = 2.0 (0.3) [RIR=2 0(5%)]
Ecristabaltes = 0.8 (0.4) [RIR=2 0(5%)]

13.0%

9.5%

Ogw 20% 22% 31% 42% 4.5% -

|Ear$ﬂl

G0.5%

9%

v = 2127 [= [A]a]s]=[=]=]x]z ] o ] ]

'T"'A."“J}

10

n

tontmorillonite-154 - Call 2[a) Mal25i4010[0H]2- 4520
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caolinite = 14.1 (0.8)

B Cristobalte = 3.4 (0.6)
Tridymite = 2.4 (0.5) [R
Clinochlore = 1.5 (0..3)

2 4o, 3.4% 3.0% 4 7%

Quartz = 32.5 (2.3 [RIR=2 .9975%)]
Albte = 17 5 (1.5) [RIR=

0541 5%]

~ectarite = 11.0 (3.6) [RIR=2.002%]]
lte = 3.1 (0.9 [RIR=2.002%]]

Montmorillonte-124 = 4.7 (0.6] [RIR=2.005%]]
Microcline = 3.5 (0.6) [FIE=0.29(5%:]]
FIE=2.005%]]

=2 005%]

RIR=2 075%)]
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1.5%
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O adbite = 17.6 (1.5) [RIR=0.64(5%]

W Kanlinite = 141 (0.8)

Erectorite = 11.0 (3 6) [RIR=2.005%]

Milite = 9.1 (0.9) [RIR=2.0[5%]
Orortmorillonite-154 = 4.7 (0.6) [RIR=2.0(5%]
OMicrocline = 3.5 (0.6 [RIR=0.59(5%]

B Cristobalite = 3.4 (0.6 [RIR=2.005%] 32.5%
E Tridymite = 2.4 (0.51 [RIR=2.0(5%)]
Oclinochlore = 1.5 (031 [RIR=2.005%]

17.8%
14.1%

9.1%
o 3.4% 3.5% 4.7%

1 [0 cwartz = 32.5 (2.3) [RIR=2.99(5%)] |Bars ] =]
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Maontmorillonite-158 - Cal. 2(4LMa)25i4010[0H)2- 4H20

[llite: - KAIZSIZAIOTAIOH)2
K.aolinite - AI25i205[0H)4




Quartz =351 (2.1
Albte =227 (1.2 [F
~ectorie =9.011.1])

daolinte = 8.1 (0.5)

=IR=2 991 5%]
R=0 5d4r5%)]

RIR=2 075%)]

lite = 5.6 (0.8 [RIR=2 0r5%)]

Micracling = 4.4 (0.5) [RIR=0.59(5%]
Cristobalite = 4.2 (0.5) [RIR=2 005%]
mortmoarillonite-154 = 5.9 (0.4) [RIR=2 005%]

Tridymite = 2.5 (0.4)

[RIF=2 0(5%]

Clinochlore = 1 6 (0.2) [RIR=2 005%]

5 oo 3.9% 4

5 1% 8.6% 9.0%
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Oalkits = 22.7 (1.5) [RIR=0.64(5%]
ERectorite = 9.0 (1.1) [RIR=2.0(5%)]
Wit = 5.5 (0.3) [RIR=2.0(5%)]
BKaalinite = 84 (0.5)

CMicrocline = 4.4 (0.5) [RIR=0.58(5%)]
[Ccristobalte = 4.2 (0.5) [RIR=2.005%:]
ntortmarilonite-154 = 3.9 (0.4 [RIR=2 0(5%)] 331
ETridymite = 2.5 (0.4) [RIR=2.005%]
M ciinochiore = 1.6 (0.2) [RIR=2.0(5%]

#

227%

5.1% 5.6% 3.0%

1 G 2.5% 59% 4.2% 4.4% . . .

3 [0 cuartz = 351 (2. [RIR=2.99(5%] |Bars ] |
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ofv]s s]2]|7[x[a]S]s]=]=]|=|r]|z]o]a]u]

Montrmorillonite-154 - Cal. 2[4 Ma)25i4010[0H)2 4H20

[llite: - KAIZSIZAIOTOIOH)2
F.aolinite - AIZS205[0H)4

Tridyrnite - 502
Fectonte - Madld[Si A0 20[0H14-2HZ0
Clinachlore - [Ma,Fe+2]RAIS5i340070[0H]S




Quartz = 35.6 (2.1 [RIR=2 99(5%] Bars

Alhite = 26.0 (1 .6) [RIR=064(5%]

Wilite = 15.5 (1 07 [RIR=2 005%]

B Kaolinite = 7.5 (0.4)

Fectorite = 2.1 (0.59) [
Tricymite = 2.0 (0.3) [
Clinochlore = 1.2 (0.2)

1 2o 20% 2.1%

Cristobalite = 4.4 (0.5] [RIR=2 0r5%)]
Microcling = 4.2 (0.5) [RIR=0.59(5%)
mortmorillonite-154 = 3.2 (0.3 [RIR=2 075%)]

R=2 0(5%:] 35.6%
R=2.0(5%:]

5 o 2% 4.4%

RIR=2 075%] 26 0%
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AN Oamartz = 35 6 (2.7 [RIF=2.99(5%] |Ba,3 ﬂ -
[ Alkite = 26.0 (1.6 [RIR=0.64(5%] T
Wilite = 13.5 (1.07 [RIR=2.0(5%]

W anlinte = 7.5 (0.4)

[cristobalts = 4.4 (0.5) [RIR=2.005%]]

[Microcline = 4.2 (0.5) [RIR=0.59(5%]

Emontmorillonite-154 = 3.2 (0.3) [RIR=2.0(5%]

Erectorite = 2.1 (0.5) [RIR=2.005%]] 35.6%
[ Triclymite = 2.0 (0.3) [RIR=2.005%]]

Eclinochlors = 1.2 (0.21 [RIR=2.005%)] 26.0%

7.8%
1 2% 20% 24% 320 4.2% 4.4%
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Montmorilanite-154 - Cal. 2[4 Mal254010[0H ]2 4520

it - KAIZSI2AI0T0[0H])2
F.aolinite - AI25i205(0H)4

Tridyrnite - Si02
Rectorite - Masld{SiAN2020(0H4-2H20
Clinochlore - (Mg Fe+2]RAI5341010[0H)]S




Quartz = 391 (2.4) [RIR=2 99(5%]
Albte = 21 7 (1.5) [RIR=064(5%]

Wlite = 15.0 (1 17 [RIR=2 .00 5%]

B K anlinte = 9.1 (0.5)

Tridymite = 2.3 (0.4) [R
Cristobalte =1.9(0.4)
Clinochlore =1 .2 (0.22)

41% =0%

Microcling = 5.6 (0.6) [RIR=0.5975%))
mortmorillonite-154 = 4.1 (0.4 [RIR=2 075%)]

R=2 075%]
RIR=2 005%]

RIR=2 075%)]
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ClQuartz = 39.1 (2.4) [RR=2.89(5%)] |Bars ] v HW373
Dlakite = 21.7 (1.5) [RIR=0.64(5%)] )

Montmorilonite-154 - Cal. 2[4 Ma)251 401 0[0H)2- 4520
Miite = 15.0 (111 [RIR=2.005%)]

Wk zolinte = 9.1 (0.5) llite - KAIZSi341010[0H)2
[Micracline = 5.6 (0.5 [RIR=0.59(5%] K.aclinite - Al25i205(0H)4
Erortmarillonite-154 = 4.1 (0.4 [RIF=2.005%] A !

S Tridyrmite - Si02
A Trickymite = 2.3 (041 [RIR=2.005%] 39.1% ; ; i
O cristobalite = 1.9 (0.4) [RR=2 05%)] Clinochlore - (Mg Fe+2]RaIS 24001 0[0H)2
[ clinochlore = 1.2 (0.27 [RIR=2.005%]

21.7%
15.0%

1.2% 1.9% 2.3%




Quartz = 34.0 (2 1) [RIR=2 99(5%] Bars 2| -

Albite =17 .5 (1.3 [RIR=0 64(5%]
B Kaalinite = 13.9 (0.7)

Wllite = 159 (1.0) [RIR=2.0(5%]
Trickymite = 5.0 (1 .17 [RIR=2 075%]
mortmorillonite-154 = 6.0 (0.51 [RIR=2 075%)] =4 0%,
Micracling = 4.5 (0.5) [RIR=0.59(5%)]
Cristobalite = 2.2 (0.51 [RIR=2 0r5%)]
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13.9% 13.9%

olv = 127 [<[@[a]s]=]=]=]=]=]c]]-]

AW Guartz = 340 (2.1) [RIR=2.93(5%)] Bars 4| «
O &lkite = 17.5 (1.3) [RIR=064(5%:] | J_ b aontmarillonite-158 - Cal 2[4 M g)254010(0H)2-4H20
Kaolinte =139 (0.7
=|||':.: I=n1;.94 i .Dj([HIRLZ.D(S%)] llite - KAZSIZAIDT0[0H]2
A Tridymite = 5.0 (1.1 [RIR=2.0(5%] K.aolinite - A25i205(0H)4
EMontmarillonite-154 = 6.0 (0.5 [RIR=2.075%] 34.0% S
CMicrocline = 4.5 (0.5) [RIR=0.59(5%)] Tridymnite - 5il2
Ccristobalte = 2.2 (0.5) [RIR=2.0r5%)]
17 5%




Cluartz = 29.6 (1.8) [RIR=2.99(5%]] Barz “| =

Albite = 20,3 (1.4 [RIR=0 64r5%)]
Wllite = 17 .7 (1.2) [RIR=2.0(5%]

B Kaalinite = 10.5 (0.6)

Trickymite = 10.2 (1 .00 [RIR=2 0r5%)]
mortmorillonite-154 = 6.0 (0.51 [RIR=2 075%)] S B,
Cristobalite = 4.4 (0.61 [RIR=2 0r5%)]
Micracling = 1.4 (0.3 [RIR=0.59(5%]

20.3%
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Oalkite = 20.3 (1.4) [RIR=0 64(5%]

Mite = 17.7 (120 [RIR=2.005%1]

Mk aolinite = 10.5 (0.6)

[ Trickymite = 10.2 (1.00 [RIR=2.005%)]

Orortmarillonite-154 = 6.0 (0.5) [RIR=2.005%)] 29 6%

A0 uartz = 296 (1.8) [RIR=2.99(5%)] \Bars | ]

D Cristabalite = 4.4 (0.5) [RIR=2.0(5%)]
CMicrocline = 1.4 (0.3) [RIR=0.59(5%)]
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F.aolinite - AI25i205[0H)4

Tridyrnite - Si02




Cluartz = 431 (2.7) [RIR=2.99(3%]] ‘EEHE i ‘ -

Albite = 25 4 (1.8) [RIR=0.64(5%]
Wllite = 13.5 (1 1) [RIR=2 075%)]
Tricymite = 5.3 (0.8) [RIR=2 005%]
Micracling = 4.7 (0.5) [RIR=0.59(5%]
Cristobalte = 3.7 (0.5) [RIR=2.005%] 45 1%,
maortmarillonite-154 = 5.5 (0.4) [RIR=2 005%]

23.4%

13.5%
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I quertz = 431 ¢2.7) [RIR=2.99(5%)]

O slbite = 25.4 (1 3) [RIR=05475%]

Wiite = 13.5 (1.17 [RIR=2 075%]

[ Tricymite = 6.3 (0.5) [RIR=2.0(5%)]
CMicrocline = 4 7 (0.5 [RIR=0.59(5%]
Ccristobalte = 3.7 (0.5) [RIR=2.005%)]
Emortmorilonite-158 = 3.3 (0.4) [RIR=2.005%.]
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Guartz = 361 (2.4) [RIR=2 997 5%] Barz i

Albite = 25 0 (207 [RIR=0.64(5%]
Wliite =125 (1.2 [RIR=2 0r5%]

Trickymite = 12.0 (1.5) [RIR=2 .00 5%]
Cristobalte = 6.2 (0.9) [RIR=2.005%]
mortmarillonite-154 = 4 4 (06 [RIR=2 005%] 2 19,
Micracling = 3.5 (0.5) [RIR=0.59(5%]

29.0%

12 0o 12.8%
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Cauartz = 361 (2.4 [RIR=2.9905%)] Bars #| »
O albite = 25.0 (2,07 [RIR=0 645%] | J_ Montmorillonite-158, - Cal. 2[4 g)2540710[0H]2-4H20
Wiits = 125 (1.2) [RIR=2 0(5%] _ _
E Tridymite = 12.0 (1.5) [RIR=2.0{5%)] Hlite: - KAIZS i3AI010(0H)2
Clcristobalte = §.2 (0.9) [RIR=2 0(5%] ' e
Erortmorilonite-154 = 4.4 (0.5 [RIR=2.005%] A% - o i A il - TR i ed, rw, 'l’ - P s b S T i e - SI0T
Cdticrocline = 3.5 (081 [RIR=0.59(5%)] |

25.0%

120% 128%
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Quartz = 39.4 (2.4 [RIR=2 99(5%)] Bars | v

Albte = 230 (1 .5) [RIF=0.64(5%]
Wllite = 12.9 (1.0 [RIR=2 0r5%)]

Tricymite = 6.7 (0.9) [RIR=2 005%]
Kaolinite = 6.4 (0.6) [RIR=2 0r5%)]
mortmoarillonite-154 = 5.5 (0.6) [RIR=2 005%] 20 49,
Cristobalite = 3.5 (0.7) [RIR=2 005%]
Micracling = 2.7 (0.4) [RIR=0.59(5%]

23.0%

1.2.9%

5 oo 6.4 B.7%
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Ol &lkite = 230 (1 6) [RIR=0.54(5%)]

Wiite = 12.3 (1.0) [RIR=2 0{5%)]

M Tridymite = 5.7 (0.9) [RIR=2.0{5%]]

Mkaalinite = 5.4 (0.5 [RIR=2.0(5%]

Etortmorilonite-154 = 5.5 (0.5) [RIR=2 0(5%)] 20 4%

IO cusartz = 33.4 (2 4) [RIR=2 93(5%)] Bars x| ]

Olcristobalite = 3.5 (0.7) [RIR=2.005%]
Omicrocline = 2.7 (041 [RIR=0.59(5%]

23.0%
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Montmorillonite-158 - Cal. 2[ALMa)25i4 071 0[0H)2- 4H20
[lite: - kAIZ5i3AI010(0H)2

Tridyrnite - Si02

k.aolinite - Al25i205(0H)14




Quartz = 44 5 (2.9) [RIR=2 997 5%]
Albte = 161 (1.5) [RIR=0.64(5%]
Wllite = 15.9 (1.3 [RIR=2.075%]
Kaolinite = 6.3 (0.7) [RIR=2.0(5%]
Tricymite = 5.8 (1.0) [RIR=2.005%]
Cristobalte = 4.5 (0.8) [RIR=2.005%]

Microcline = 3.0 (0.6) [RIE=0.29(32%]]

5.8% B.0%

3 9%, SR q 5%

mortmoarillonite-154 = 3.8 (0.6) [RIR=2.005%]

15.9% 16.1%
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I [T auartz = 44 5 (2 9) [RIR=2.259¢5%] Bars 4| »

CdAkite =161 (1.5) [RIR=0.64(5%] | J_ Montmorillonite-154, - Cal. 2[ALMg)25i4010[0H]2-4H20
Wiite =15.9 (1.3) [RIR=2.0(5%] _ .
Mkaalinite = 5.3 (0.7 [RIR=2.05%] llite: - KAZ5i381010[0H]2
E Tridymite = 5.5 (1.00 [RIR=2.075%] SnEE
Ccristobslite = 4.5 (0.8) [RIR=2.0(5%)] 44 5% Tridyrnite - 5i02
Etortmarillanite-154 = 3.5 (0.5 [RIR=2.005%] o

OMicrocline = 3.0 (061 [RIR=0.59(5%] K.aolinite - AI25i205(0HM

13.9% 16.1%

30% 38% 4.3% 55% B.3%
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Quartz = 851 (5.8) [RIR=2.99(5%] Bars

Albite = 5.5 (0.7) [RIR=0.54(5%]
Wllite = 5.9 (0.5) [RIR=2.005%]
Micracling = 2.2 (0.4) [RIR=0.59(5%]

0. 1%

2. 3% 6 .5%
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1| D cusrtz = 85.1 (5 8) [RIR=2.93(5%]] |Bars | =
O Albite = 6.5 (0.7) [RIR=0.64(5%] - . _
Wiite = 5.9 (0.5) [RIR=2.005%)] lite - KAI2Si34/010(0H]2

Emicrocine = 2.2 (0.4) [RIR=0.59(5%]] a5 1% Microcline - K[AISi308]

5.9% 5.5%

2.2% _ |—|

ofv]s sl#|7 |« [a]S|]=]=|=|r]|z]o]o]u]

______ N R, W Vi . J 1, N

10 20 i 40 &0 50




Clyartz = 892 (6.2) [RIF=2.9305%]] Barz =

Alhite = 5.7 (0.6) [RIR=064(5%]
Wilite = 5.4 (0.4) [RIR=2.005%]
Microcling = 1.7 (0.4) [RIR=0.59(5%]

od.2%

1 7o, 3 49, 2. Y
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CGwartz = §9.2 (5.2 [RIR=2 89(5%)]
Cabite = 5.7 (0.6) [RIR=0.64(5%]
Wit = 3.4 (0.4) [RIF=2.0(5%]]
Enicrocline = 1.7 (0.4) [RIR=0.53(5%]]

|Barsﬂl
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Quartz = 765 (5.2) [RIR=2 99(5%]

Wlite = 15.5 (1 .21 [RIR=2 07 5%]

. 9%

6 .9%

Alhite = 5.9 (0,97 [RIR=064{5%]
Microcling = 0.9 (0.4 [RIR=0.59(5%]
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O cuartz = 76 & (5.2) [RIR=2.99(5%] |Ear3 ﬂ -
Wiite = 15.5 (1.2 [RIR=2.0(5%] ] _ .
O albite = 6.9 (0.9) [RIR=064¢5%] [Hlite: - KAZS3A010[0H)2

OMicrocline = 0.9 (043 [RIR=0.59(5%]] 75 5% Microcline - E[al5i308]

15.5%
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Quartz = B3.5 (4.1 [RIR=2 .9975%)] Barz 2| w
Albte = 155 (1.4) [RIF=0.64(5%]

Wllite = 9.5 (0.5 [RIR=2 075%)]

Kaolinite = 5.4 (0.6) [RIR=2 0r5%)]

Micracling = 2.5 (0.5) [RIR=0.59(5%]

Tricymite = 2.5 (0.7) [RIR=2 005%] £ S,

B Criztobalite = 1.3 (0.5) [RIR=2 075%)]

15.5%
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ClGuartz = §3.5 (4.1 [RIR=2.99(5%] |Bars %]

Clalbite = 15.5 (1.4) [RIR=0 54(5%]] 1 _ ;

Wiite = 9.5 (0.5) [RIR=2 0(5%)] lite - KAI25i341010(0H]2
Clkaolinte = 5.4 (0.6) [RIR=2.005%] Micracline - K[AI5i308)
EMicrocline = 2.5 (0.5) [RIR=0.59(5%)] Alesidollt

E Trickymite = 2.3 (0.7) [RIR=2 0(5%)] B3 5% Cristobalite - 3ill2

Wl Cristobalite = 1.3 (0.5) [RIR=2.005%)]

9.2%

13%  23%  25% |ﬁ|-
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Quartz = 49.4 (3.4 [RIR=2 99(5%]
Albite = 209 (1.9 [RIR=064(5%)]
Trickymite = 11.5 (1 61 [RIR=2 075%]
Wllite = 9.9 (1 .07 [RIR=2 005%)]
Kaolinite = 4.5 (0.7 [RIR=2 005%]
Micracling = 2.3 (0.6) [RIR=0.59(5%)]
B Criztobalite = 1.5 (0.6) [RIR=2.005%]

20.9%
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A cuartz = 49.4 (3.4) [RIR=2.93(5%)] Bars | v
[ akite = 209 (1.9) [RR=0.64(5%)] -
W Trictymite = 11.5 (1 6) [RIR=2.0(5%]

Wite = 9.9 (1.0) [RIR=2.0(5%)]

Dk aolinte = 4.5 (0.7) [RIR=2.0(5%]]

Eicrocine = 2.3 (0.5) [RIR=0.55(5%] 45.4%
Wl Cristobaiite = 1.5 (0.6) [RIR=2.0(5%]]

20.9%
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Quartz = 555 (3.51 [RIR=2.9975%)]
Albte = 17 2 (1.4) [RIR=0.64{5%]
Wllite = 10.4 (0.5 [RIR=2 0r5%]
Kaolinite = 6.5 (0.7 [RIR=2 0r5%)]
Micracling = 5.5 (0.7 [RIR=0.59(5%]
Tricymite = 1 4 (0.4) [RIR=2 005%]
B Criztobalite = 0.7 (0.3 [RIR=2 075%)]
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I cwartz = 55.5 (3.8 [RIR=2.99(5%]

Ol &lkite = 17.2 (1.4) [RIR=0.6475%]
Wiite = 10.4 (0.5) [RIR=2.005%1]
Ckaolinite = 5.5 (0.7) [RIR=2.075%)]
Eticracline = 5.3 (0.7 [RIR=0.59(5%]]
[ Trichymite = 1.4 (0.4) [RIR=2.0¢5%)]
Wl Cristobalite = 0.7 (0.3) [RIR=2 0(5%)]
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Guartz = 44 1 (2.9) [RIR=2 997 5%]
Wllite = 17.0 (1.3 [RIR=2 0r5%]

Albite = 14 5 (1,27 [RIR=0.64(5%]
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Kaolinite = 6.0 (0.7) [RIR=2.0(5%]
Micracling = 3.2 (0.5) [RIR=0.59(5%]
Trickymite = 1.7 (0.4) [RIR=2 005%]
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Wliite = 17.0 (1.3) [RIR=2.0(53%)] -
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3 NOcuartz = 540 (3.5) [RIR=2 99(5%]

O alhite = 26.5 ¢1.9) [RIR=0 54(5%)]
Milite = 6.0 (0 71 [RIR=2.005%)]

[ Trickymite = 3.8 (0.5) [RIR=2.005%]]
W Cristabalite = 3.3 (0.6) [RIR=2.0(5%)]
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Okaolinite = 2.0 (0.4) [RIR=2.005%)] 54.0%
Orectarite = 1.2 (0.6) [RIR=2.0(5%]]
Eclinochlore = 0.7 (0.2) [RIR=2.0(5%)]
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I Ocuartz = 61 8 (411 [RIR=2.99(5%)] Bars x| ]

O albite = 24 2 (1.9) [RIR=06405%)] ) .
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Quartz = 651 (4.3 [RIR=2.99(5%)]
Albte = 19 6 (1.5) [RIF=0.64(5%]
Micracling = 5.5 (0.7) [RIR=0.59(5%]
Wllite = 5.3 (0.6) [RIR=2 0r5%)]

B Criztobalite = 2.4 (0.5) [RIR=2 075%)]
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I Dauvartz = 651 (4.3 [RIR=2.33(5%1]
Clalbite = 195 (1 6) [RIR=0.64(5%]]
Eticrocline = 5. (0.7) [RIR=0.59(5%)]
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Quartz = 451 (311 [RIR=2 99(5%]
Albite = 293 (2.2 [RIR=0 G4(5%]
Wlite = 11 1 (1 .01 [RIR=2.0(5%]

B Cristobalite = 4.5 (0.8) [RIR=2.005%]

Trickymite = 4.5 (0.7 [RIR=2 0r5%)]

Mordenite = 1.8 (0.4) [RIR=2 0r5%))
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IO auartz = 45.1 (3.17 [RIR=2 99(5%]]
Dl albite = 29,3 (2.2) [RIR=0.64(5%]]
Wiite =11 1 (1.0) [RIR=2.0¢5%)]

W ristobalte = 4.8 (0.8 [RIR=2.005%]
B Tricymite = 4.5 (0.7) [RIR=2.0(5%]
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B etz = 527 (2.4)

Trichymite-0 = 19.8 (2.3 [RIR=2 0r5%)]

Wllite-2h41 =177 (1.97 [RIR=2 .00 5%]
B Criztobalite = 11 .2 (1 .2)
Htdicrocline = 10.2 (1 5 [RIR=0.59(5%]

Albte = 5.5 (1.8) [RIFR=0.64(5%]
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I quartz = 32 7 (2.4

O Tridymite-0 = 19.8 (2.3) [RIR=2.005%.]
Wilite-2M1 = 17 7 (1 .97 [RIR=2.0(5%)]

W cristobalte = 11.2 (1.2)

Mticrocline = 10.2 (1.5 [RIR=0.59(5%]
Cllbite = 5.5 (1 ) [RIR=0.64{53)]

W vermiculite-2M = 2 & (0.3) [RIR=21_37(5%]
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B cuarntz = 452 (2 6) Bars

Trickymite-0 = 14 .9 (1 .5) [RIR=2.0(5%)]
Wilite-2041 = 2.7 (1.27 [RIR=2.005%1]

Bl Cristobalite = 9.6 (1.0)

B ermiculite-20 = 6.9 (0,51 [RIR=21 37(5%]
Microcling = 6.7 (1.1 [RIR=0.59(5%.)] 48 2%,
Albite = 4.1 (117 [RIR=0645%]
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W Guartz = 45212 6) |Ear$ ﬂ - Microcline - K[AISi308)
O Tridymite-0 = 14.9 (1.5) [RIR=2 0(5%)] - _ _
Wilite-2t1 = 9.7 (1.2) [RIR=2.005%] Ilite-2h1 - K, H30]412534101 0[0H]2

W cristobalie = 96 (1.0) Yermiculite-2M - Mg35i4010[0H)2
Wermiculite-2M = 5.9 (0.5) [RIR=21 37(5%)] Quartz - 5i02
Emicrocline = 6.7 (1.1) [RIR=0.53(5%] 48.0% Hidymite.D - 502

ol (] Albite = 4.1 (1.17 [RIR=0.64(5%)]
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albite = 37 .0 (3.7) [RIFR=0 64(5%] Barz

Blite-201 = 231 (2.00 [RIR=2.0(5%)]

B Cuartz =14 .4 (1 .4)

Microcline = 10.7 (1.5 [RIR=0.59(5%.]

B Clinochlore-1 Ml = 6.3 (0.8 [RIR=2.005%1]
Trichymite-0 = 5.1 (0.7 [RIR=2.0(5%] 27 0,

B/ ermiculite-20 = 2.1 (0.3) [RIR=21 37(5%)]
Bl Cristobalite = 1.3 (0.4)
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Bl Guartz =144 (1.4

Bl Cristobalite = 1.3 (0.4)

Calbite = 37.0 (3.7 [RIR=0 64(5%]]
Wiite-20t1 = 231 (2.0) [RIR=2.005%)]

Eticrocline = 10.7 ¢1.5) [RIR=0.59(5%)]

W Clinochiore-1Milb = 6.3 (0.8) [RIR=2.0(5%)]
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ol Il ermiculite-20 = 2.1 (0.3) [RIR=21.37(5%]
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A [[Hcuartz = 40.3 (3.3) [RIR=3.05(5%)] |Bars ] =
Dl hite = 18.2 (2.2) [RIR=0.64(5%)] -
EMicrocine = 15.4 (1.9) [RIR=0.53(5%)]

Wlite-201 = 9.8 (1.4) [RIR=2.0(5%)]

Wl Cristobsite = 6.5 (0.9)

O Trickymite-0 = 6.0 (3.1 [RIR=2.0(5%)] 403%
E Clinachiore-1hils = 2.3 (0.8) [RIR=2.0(5%)]
Wlermicuite-24 = 1.1 (0.2) [RIR=21 37(5%)]
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Bl Cuartz = 363 (2.2) [RIR=3.05(5%]] Barz 4| =

Albite = 27 5 (197 [RIR=0.64(5%]
Cristobalite = 113 (0.9)

B Futile = 5.9 (0.9) [RIR=3 631 5%]
Wllite-2h1 = 5.1 (0.7) [RIR=2.0(5%]
Mordenite = 3.1 (0.5 [RIR=2 005%))] 5 9,
Micracling = 2.7 (0.4) [RIR=0.59(5%]

B clinochlore-1Milb = 2.0 (0.2) [RIR=2 0(5%]
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W Cuartz = 36.3 (2.21 [RIR=3.05(5%)] |Bars ] = Micracline - K[A/5308)
O alkite = 27 5 (1.9) [RIR=064(5%)] T
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Albte = 15 5 (1.3) [RIR=0.64(5%]
Micracling = 102 (0.9) [RIR=2.0(5%
B Cristobalite = 5.1 (1 .00 [RIR=2.005%
Eltdicrocline = 6.9 (0.7 [RIR=0 59(5%;
Tricymite = 5.0 (0.6) [RIR=2 005%] 49 5%,
Bllite-2h1 = 4.3 (0.5) [RIR=2 .00 5%]
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O albite = 158 (1.3) [RIR=0.64(5%))
Mticrocline = 10.2 (0.9) [RIR=2.0¢5%)]
Wl cristobalte = 51 ¢1.0) [RIR=2.0(5%]
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Quartz = 51 .9 (3.2 [RIR=2 99(5%)]
Alhite = 23.0 (1 .61 [RIR=064(5%)]
Wilite = 12 .2 (1.0) [RIR=2 .0 5%]
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Quartz = 485 (3.00 [RIR=2 99(5%)]
Albite = 19.7 (1.4 [RIR=064(5%)]
Orthoclaze = 10.0 (0.8 [RIR=0 74(5%]
Wilite = 10.0 (0.5 [RIR=2.005%]

B Criztobalite = 6.3 (0.7 [RIR=2.005%)]
Mordenite = 2.0 (0.3) [RIR=2 .00 5%]
Trickymite = 1.9 (0.3 [RIR=2 0r5%]
Clinochlore = 1.5 (0.2 [RIR=2 0r5%)]
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Wllite = 9.5 (0.5 [RIR=2 07 5%]
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3 g0 2.0

lite-maortmarilonite = 5.7 (2.2 [RIR=0.4(5%]
Clinochlore-18ilk = 3.3 (0.3) [RIR=2 005%]
Kaolinite = 2.7 (0.4) [RIR=2 005%]
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OGuartz = 57.3 (3.8) [RIR=2.99(5%)] [Bars ]| ¥
W 2lkite = 10.7 (1.0) [RIR=0.64(5%]] ]
W Cristobalite = 10.5 (1.1) [RIR=2.005%)]

Wiite = 9.5 (0.3) [RIR=2.0(5%]]

M ite-martmorilonite = 5.7 (2.2) [RIR=0.4(5%]]

M Clinochlore-1Milk = 3.3 (0.3) [FIR=2.0(5%)] 57 3%
Okadlinite = 2.7 (0.4) [RIR=2.0(5%]]
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Albite - Mafdl5i308)

Clinochlore-THI1b - [MgANE[SLAN4070(OH]E




Quartz = 541 (3.7 [RIR=2 99(5%)] Barz | w
B Cristobalite = 125 (1.5) [RIR=2 .05%] '
Kaolinite = 10.7 (0.9) [RIR=2.0(5%]

B 2lbite = 9.3 (0.9) [RIR=0 54(5%]
lite-maortmarilonite = 7.2 (2 6 [RIR=0.4(5%]
Wllite = 5.5 (0.5) [RIR=2.005%] £ 1%,
Clinochlore-1kilk = 0.9 (0.2 [RIR=2 005%]
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I ouartz = 54.1 (3.7) [RIR=2.9975%]

W cristobalte = 12.3 (1.5) [RIR=2.0(5%]
Clkaalinite = 10.7 (0.9) [RIR=2.05%]

Wl 2lbite = 9.3 (0.9) [RIR=0.64(5%]
Milite-montmarilonite = 7.2 (2.5 [RIR=0.4(5%]
Wilite = 5.5 (0.5) [RIR=2.005%]
EClinachiare-1 bl = 0.9 (0.2) [RIR=2.0(5%)]
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Clinochlore-1kIlb - (Mo AlESLA40T0[OH)]2




B Criztobalte = 359 (3.1) [RIR=2.0(5%)] Bars | =

B Cuartz = 15.3 (1.1 [RIR=2 93(5%1]
Clkaolinite = 14 1 (1.6 [RIR=2.0{5%]]
Ml icrocline = 12.9 (1 .61 [RIR=0.59(5%1]
B tuscovite = 1000 (0.8)
Mortmarillonite-154 = 5.9 (0.6] [RIR=2.005%]] 35 oy,
Albite = 3.5 (0.8) [RIR=0.64{5%]

B Clinochlare = 1.4 (0.3 [RIR=2.0{5%]
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I cristobalte = 35.9 (3 1) [RIR=2.0(5%)] [Bars 7] + ARG i
W Guartz =153 (1.1 [RIR=2.93(5%]] T Mlcrocll_ne - K[_.-’-‘-.ISG_DB]
Mkaclinite = 14.1 (1 5) [RIR=2.0(5%] Cristabalite - 502
Enficrocling = 12.9 (1 6 [RIR=0.59(5%1] Cluartz - 5i02
B Muscovite =100 (0.8) o i
CMartmarilonite-158 = 6.9 (0.5) [RIR=2.005%)] R 'Fhi;"ﬁ”:;g[siﬁﬂé? SES:};

[ &bite = 3.5 (0.5) [RIR=064(5%]] Mg :
B clinochiore = 1.4 (0.3) [RIR=2.005%)] Muscovite - alz[SiaA010[0H]2
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Quartz = 3.7 (2.3 [RIR=2 99(5%)] Bars

B Cristobalite = 15.0 (2.0) [RIR=2 .00 5%]

B 2lbite = 16.7 (1 5) [RIR=0.64(5%]
lite-montmarillonite = 136 (3.51 [RIR=0.4r5%]
caolinite = 11.9 (1 .00 [RIR=2 0r5%)]

Wilite = 5.1 (0.9) [RIR=2 005%] 2 T,
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I auartz = 31.7 (2.3) [RIR=2.99(5%)] |Bars | = _ _
Wl Cristobalite = 180 (2.0) [RIR=2.0(5%)] Ilite - KAIZS 34101 O[OH]2
=.£'-.Ibite =16.7 (1 5) [RIR=064(5%] - ADSIZ05(0HM
llite-mortmorilanite = 13 6 (3.5) [RIR=0.4(5%]] _ - , -
DKED"I’I“E =11.9(1.01 [RIR=2.0{5%] Illite-rmontmaorillonite - K.-’-'«Id[Su‘-‘«I]EEH D[DH]44H 20
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Quartz = 40.4 (3.2 [RIR=2 99 5%]
B 2 lbite = 121 (1.3 [RIR=0.64(5%)]
lite-martmarilonite = 11 .5 (4.8 [RIR=0.475%)]
Cristobalite = 10.5 (1.8 [RIR=2.005%]
Kaolinite = 5.9 (0.9) [RIR=2.0(5%]

Rectorite = 6.2 (1 4 [RIR=2 0(5%]

Wllite = 4.7 (0.7) [RIR=2 075%)]

Trickymite = 4.3 (1 .00 [RIR=2 .005%)]
Clinochlore-1hila = 1 4 (0.3) [RIR=2.0(5%]
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IO ouartz = 404 13.2) [RIR=2 99(5%)]
W 2lbite = 124 (1.3) [RIR=0.54(5%)]
Milite-mortmorilonite = 11 .5 (481 [RIR=0.4(5%]
Ccristobalite = 10.5 (1.5) [RIR=2.0(5%)]
Clkaolinite = 5.9 (0.9) [RIR=2.0(5%]
DRectorte = 5.2 (1.4) [RIR=2.0(5%)]

Wilte = 4.7 (0.7) [RIR=2.0(5%]

O Trickymite = 4.3 (1.0) [RIR=2.0(5%)]
Eclinochiore-1hlb = 1.4 (0.3 [RIR=2 075%:]
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lite: - KARZSIZAI0TAOH)Z

[llite-rmontmorillonite - KASLANSOT0[0H)- 4H20
dlbite - Malalsi30a)
M antmarillonite - MakdgdlSi02[0HH20

Clinochlore-1MIlb - [Mg.AlLFe]E(5iA14010[0H)E
Rectorite - Hat4{SLANS020(0H]4 2H20




Guartz = 67.3 (1.5) Bars x| =

Albite =139 (0.97 [RIR=064(5%)]
B Criztobalite = 10.4 (1.5) [RIR=2.0(5%]

lite-2h1 = 2.9 (0.3 [RIR=2 005%]

Micracling = 2.5 (0.4) [RIR=0.59(5%)]

Trickymite = 2.6 (0.5) [RIR=2 075%] 5T S,
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Ouartz = 57.3(1.5) Bars x| v T Cristobalie - Si02
O &lkite = 13.9 (0.9) [RIR=0.6475%)] - _ Microcline - KIAISi308)
Wl Cristobalite = 10.4 (1.5) [RIR=2 0(5%)] Ilite-2hd1 - (K HIOAIZSi34I01 0[0H]2
Eilite-201 = 2.9 (0.3) [RIR=2.005%]] _ _
Ericrocline = 2.8 (0.4) [RIR=0.59(5%] .-’-'«II:ult_? _-dN a[_;‘l'xlsg% 82]
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Quartz = 49.3 (1 .5)

Bl Cristobalite = 205 (2.0) [RIR=2.005%)]

2.9%

a.3%

Albte =181 (1.2) [RIR=0.64{5%]
Micracling = 5.6 (0.7 [RIR=0.59(5%]
lite-2h1 = 3.3 (0.4) [RIR=2 0r5%)]
Trichymite = 2.9 (0.4) [RIR=2 00 5%]
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A D Guartz = 493 (1.5) [Bars 2| ¥ Cristobalite - 5102

i i T bicrocling - K[&15i308
Bl Cristobalite = 20.5 (2.0) [RIR=2.0(5%] _ icroclin - K[AISi308]
Dalkite = 151 (1.2) [RIR=0.54(5%)] Nite-2841 - [K,H30JA25i38001 0[0H)2
Mticrocling = 5.6 (0.7 [RIR=0.53(5%] ) )
Milite-2b41 = 3.3 (0.4) [RIR=2.0(5%] fl'-.lblt$ _-dNa[_.:-‘-.IS_g% 82]
E Trickymite = 2.9 (0.4) [RIR=2.0{5%] 49 =%, nidprnite - 51
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